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Mathematics 
Term 1 Weighted Assessment 

Name: ___________ ( ) 

Class: Primary 4 ( ) 

Date: ____ _ Parent's Signature: 
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/20 

-----

Please sign and return the paper the next day. Any queries should 
be raised at the same time when returning paper. 

Questions 1 to 3 carry 2 marks each. For each question, four options are 
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4) 
and write your answer (1, 2, 3 or 4) in the bracket ( ) provided. 

1. • Which of the following is equal to 367 x 29?

(1) 4037

(2) 8983

(3) 10 643

(4) 17 243

1 

(6 marks) 

( ) 
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1. Which or the following is equal lo 367 x 29? 

k 

-+3 f. 
(1) 4037 

(2) 8983 )( :). 9 

(3) 10643 3 3 0 3 

+ 
4 0 (4) 17243 -+ 3

I 0 I:, 4- 3 ( 3 ) 

Questions 4 to 8 cafl)' 2 rnar1<s each. Show your worttlng clealiy and write 
your answers In the spaces provided. For questions which require units, give 
your answers In the units staled. (10 marks) 

4. Find the value of7120 • 4. 
2 o 
.1 0 

:l, 

1. 

� 0 
0 

Ans:_!_+_�_0 __

5. List all the common factors of 30 and 36. 

�o -- H, 
Ci) X 30 = ;o CD--;--; lo :: 3 b 

C:1) )( 15:: go (})i- [8 ::36 

@x 10:: 30 d)x r 2 = g�

Ei )( @: 30 4- )( '1 :: 31. 

©)I. (, ::. ;6 

Ans: ( I 2 3 a.,,d

6. What Is the first common multiple of 4 and 8? 

m« l+iple.f of If :

[Yl,d+ipft{ o.f. (, 

If, 8,@, 

G,@, 1e

Ans: 

I(:, 

1:1. 

(, 

2,• Round ao 914 to the nearest thousand. 
� i( �a�-ie,- -ti-IA.,, S, so wt. 

I (D "l"U\ t.<f • 
(1) 80 904 .J, 
c2i so910 & o 9 I 4 
(3) 80 900 

(4) 81 000 

C � l 

3. A pattern Is formed using letters M, T, A and H. The first 15 letters of the 
pattern am shown below. 

7. 

�
.IM, M, T, A, HIM· M, T, A, t;;··" 

,:i;yett+e..t ,..,J 
Which letter is In ths 54t1 position? 

A 

H 

M 

T MM"ff'.\HMMT>-'l 
,I, ,I, 

50-tt, S�--1½ ( 

D,,,,t ii-\ -½tic O"t! floce 
I Mttr-r \,t. tVfl'\, .., -

U�e au the 5 digits below lo form Iha �st 5-dlgit� number. -

0 .1 
"Trv, 1\,QW'avdf �u.,dve:!f Tel'\ r on et 

Thcu,.wl( 

10 Yt 4-¥f. "the d1')i+ 0 "'"'"•+ be plt\<td \.., 
,\\,\e ft.-, fl-iowav,df p!atl a.s -lh'I+ Ans: 
\.Ji\\ -l'otm A 4'-,!.igi+ ntA"'lbtv. ------

8. Sharon ha&rayons. The colours of the crayons are red, blue, green 
and� She needs to choose 2 different colours for her drawing. 
Hovlinaiiy different ways can shs choose the 2 different crayons? 

'lf. ''ffi:e,w;rlic.

W·H":) 

(4� g C:r Yer 

12. e BY 

rZ. '( 

3 + J. + I = (,, 
- ' d.',fferiv.+ wo,. ... Ans: 






